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Topic:- General Hindi

1) ¥ w Yel & YR UR $3 qiferdl ydird Ygdl 3|
1. dict

2. faTe

3. Y HIST

4, TSTHTHT

Correct Answer :-
o faum
2) Ut WRTd B 7Y FA AfE,
A & o G W e |
T B9 IT AAPR 82
1. TR SAPR
2. TAY 3(iBR
3. JUHT 3fAPR

4, 0D ADR

Correct Answer :-

. JffAREfad APR

3) ‘g 7 BT A, TP o e ST R,
IS B AT ¥, 7 HIS 9 T 2 |

3T WAl §TY, §TY WTel! ST,
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it A forgm afw, aferer 98 goar e
SWRIF B¢ BT ATH TATIV:

1. IS B4

2. AT B4

3. BRAIdhT &g

4. T B4

Correct Answer :-

. AT

4) ovd g9 I iy g, f& ara iy @11
YI-INR | T oIF, UY UH ST a1y BT 1’
THH TYEH B BT A Id13¢:

1. 3l 8«

2. A B4

3. gAMb B

4, TifddT &4

Correct Answer :-

. I B

5) W a1 | WU arey # gefere:
‘it U AT

1. I8 HUS Nl § YT |

2. 98 HUS YT 4iell F g

3. 98 el ¥ HUS Yaarr |

4. 98 OIS ¥ HUS U g

Correct Answer :-

. 98 U1 ¥ HUS Yaarr gl

6) 3MUR 3T 3AUR BT T 3 32
1. QIR 3R HATIH

2. IIT 3R 3rIfdp
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3. g 3R 3(Ifd®
4, TR 3R TfIp

Correct Answer :-
. T IR YD
7) Uaa® Wsg o1 344 &

1. 30 319 T gl 3ryaT 3 FRUeT a¥g T 3id: Jadid BIod a8 1941 § FoRH BT BT garR ey
BT 8| AP B 30 3y F gufa: Tot 3R gegof 3ref 2 aren §Xar 81

2. 301 3G H FIyul 37aT 3= FRUel a¥q 8111 3fdl: oI B1d a8 AT g ForiH T &1 Pig garR
ey T BT | U B¢ 3 3419 H quia: T 3R Tyl orf & arem g g1

3. 3T 31T H Tl 37T 30 ATdef ¥ BT 3fd: o 1ol g faeT & ForH &1 &1 Pis gaiiR
Taey T gIaT| T B¢ 31U 37U H guid: Wad iR qeguf 37 < gl gial g |

4. 301 30 H QU 37T 3= FARUE g BT 1 31c: G DI g AT g o HUT BT Pl Yarw
Tty TEY BT T e 30 3y H gufd: T 3R geguf 3ef ¢ arer BT B

Correct Answer :-

o 3T MY H JHOT 3yaT 3 FARUE I BT 31d: o BT a8 AT § o U1 1 H1s gaiR
Taie 181 BT | U ©¢ U+ 319 H guia: I SR ot 372f & a1 gran g |

8) UTH 3% Ut &7 31 3:
1. TSI 3R s
2. TSI 3R BIY
3. TGP 3R AART
4. TAGD IR g

Correct Answer :-
. IOl SR e
9) 3fdd 3R 3ga T T 3 32
1. TRTE 3R I
2. TERTE 3R IURY

3. T8 R Srguny
4. T8 3R SFURY

Correct Answer :-

. TERT 3R 3UHY
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10) foFT YETaR &1 T WA 32
WANE TR #
1. YD U

2. QYD Yo’

3. ¥ H Al

4. QY Y TR’

Correct Answer :-

. QYD Yo

11) 3T 3R G 7 3 g
1. TAGH 3R gY I 91 gerd
2. Al 3T 3R g J &1 Tard
3. a1 g3 3R -t e

4. ATET 3R Y T

Correct Answer :-

« WG 3R Y T

12) PR’ WG BT AMfed 3 w1 52
1. goflge

2. TG T 3T

3. 09

4. gexdn

Correct Answer :-

13) g4 R WREA W P A 82
1. I 3R Ui 7|

2. a1 ¥ SR o T

3. a1 T ok yfaa xa

4, TSRS T 3R T 3
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Correct Answer :-

. A 3R Hidd 34
14) g’ BT :
1. S, BRI, T-

2. qd, B0, qd

3. 7d, BRU, T&

4, 7d, BRUI, FfGHMH

Correct Answer :-
15) <giop &7 3 B:
1. SO, ot
2. QIOTRIT, T
3. QIUTATY, Plaf
4. SO,

Correct Answer :-

. SO, Bl

17) TS IS1 T WG §, 98 qaR QR o,
gad graldl & He g9 Il port

Wd A<t uei-t ag ot i areft e A

T UfREA A P AT ?
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1. AHE T
2. R
3.5

4, HIUIY

Correct Answer :-

18) Nq-Ma fhy YPR & Usg THA T &2
1. YTodd e JIH

2. FRde - fRd® gm

3. W@ FRY® g

4, T g

Correct Answer :-

19) ‘TR BT IR’ YTax b1 7 3 32
1. O TR O 31T ]

2. TR R I feam

3. R IR g9 @

4, R R A fe@

Correct Answer :-

. WR TG fe@mT

20) ‘3q® P fIdH I §:
1. Pl
2. HH

3. Th
4. 9%

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

21) ‘Ueaa T A4 3:
1. e

2. faEdRUm

3. O ST

4. O AT

Correct Answer :-

22) ‘gg dl A g, IO & o 7O ot = 91 g1’ 59 919 F AfRiara® a3 # 9efg|
1. Thaed T[oo! & ol & o 78 R I g |

2. ThHad ¥ & ol $e 1l HR har AT

3. 98 Al Uhad §, o & ot $© it T8l R Idhar o
4. T8 A Thacd B, T & oW $3 it R Tobel 3|
Correct Answer :-

. UHdd ¥ & U & Yl B bl AT

23) Fif¥eR o1 IR faug < g

1. IR0 P YR HA a1 § S fuf] Fwom

2. TRTH B YRUT B a1 g St U |

3. IR P YRUT 31 a1 © S 37T H |

4. UIdTaR & YRUT B T § O ST I |

Correct Answer :-

. TR ®Y yROr B aTe & o 3rufq FuT|

24) <IUHT-URTAT BT ATATRYS fa9rg Fm gm?
1. 3T 3R REAT

2. <3O TR

3. 30T g1 IR

4, *3{UFT YA TR

Correct Answer :-
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25) FH-GFW fhA YHR & Weg T A 71 &2
1. G eg] &b JH

2. fautand s el & gm

3. Arf-Afes regl & g

4, AR ® Tregl & g™

Correct Answer :-

. famdtarde wrsal & g

26) RRTH Heid 7 P IA Fed 8
1. Aspeis

2. FiRIUg

3. Dbl

4. Habt

Correct Answer :-

27) <3ifdra gear uikyTie reg fora & & aer sirar @2
1. AT

2. TRrem

3. 9oy

4. faqm

Correct Answer :-

28) ‘g Bl We W TG HY @I FRAAT3M BT g &9 FIM:
1. “&c H g B 1@ B GHT Raersiy
2. ‘S Dl Wic | Ryl T HR @Hr
3. ‘T I G W J TG HR Rgarsi
4. G 9= B @e A 3G R faarsf

Correct Answer :-
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. T DGR H G B [arsi

29) AT TN faDE 3 -
1. RI+3H
2. T+
3. Q+3F

4, q+3{4

Correct Answer :-

o T3

4. RRHT

Correct Answer :-

31) favfivur 3 3=+ eaT fear 59 ufearas A3 919 BT Sifaarae A3 919 -
1. 98 A YRAdTSl Fdhet U=l o1 g HiRal § 7T |

2. 98 ot fanfioor Fopet oru=t &1 gt eikat ¢ T |

3. 98 ol 3fi1d e aT 3Ol I gt e ¢ T4

4, 9g 1 Ffiwor fyaan el &1 8 et < T

Correct Answer :-

. g i faufiwor fyean sl o1 8 ear ¢ T
32) [} T[S’ YeTax &1 a7 3 32

1. AR &

2. T HEUATS

3. T T[0T

4. Ui g9
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Correct Answer :-

33) g &1 4 fadg 8
1. O3

2. UTa+3

3. Yd+34d

4, O1+374

Correct Answer :-
o TH3E
34) AT YTRUTTS Weg fvw &= § Sl raT 82
1. Sl
2. TRramm
3. fagA
4, gIfgd

Correct Answer :-

35) i1 & 3BT Bl Ped © -
1. faurg
2. fOuran

3. a1

4, T

Correct Answer :-

36) <STil-Hel AT GETax &1 F1 3 §2
1. @S-Gl A

2. 8l 3R Hedl d1d Hell
3. WRI-QIet A
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4. G- AT

Correct Answer :-

. HI 3R Hdl Td el

37) 3 & T3 Jeh H T Hed 82
1. Hd

2. Il

3. 3T

4. 3t |

Correct Answer :-

38) <3ifaf¥ad e TRy reg 5w & & sem wirar 82
1. HHfdDL

2. IO

3. fagm

4. TR

Correct Answer :-

39) gafy o1 wfy e @:
1. gie+3ffy

2. 3ffa+fu

3. gar+3ify

4, fcr+ardt

Correct Answer :-

. gfe+aifu
40) 3R HT fAd W B
1. %A

2. ORI
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3. Rd

4.9

Correct Answer :-

41) ‘AQSdIe TAT BT Y FU &
1. gATSSaI gl

2. AT GISA G|

3. S Gl gl

4, AT GISAT B

Correct Answer :-

. SAIGSAGI

42) I B! WSl dicit § T Hgd 82
1. 999

2. TRl

3. AIBR

4, 3d

Correct Answer :-

43) Fyaras | yyarae arey # gafer:
TSHI IHd B! wTat |

1. TSB! W STl 82

2. T ASH! Ta] SITet?

3. a1 STl dgd! Whel?

4. T ASH! W STl 82

Correct Answer :-

- T TSH! W Sl 82

44) TR 61 W A U 3R 2 RE T g F13aR &
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H TP UTUS X § | ToIgd, e, U, 1 Jverd iftd w0 g1 9aR & 9t o qa s o d ue
g1 81 9t vge & a1y JeraeR faard g1 SR et famtw end ar snfa o1 1 @ wifory &
T Y107 T EIaT 81 30D T BT 7 W T & 81 G&-g:9 &1 U1a ot 1t 51 0o i &
3rpfa 3R auf, Izrywr sik Sifa-frars aur am 3 9t Sud axgt &1 SR AT T SAA BY
AT ¢ 3R S92 ST § 9 a1 AeTed 1 | ST 9 9T a1 SIS @ 997 o a1 uelgd
GIRT I3 81 | 98 e Raran 8, sravma =8| o af udar &1 aas g

Y: FaG ST YH AR |
1. Y 98T ¥ W 4 g
2. I 981 ¢ gFadT G|
3. JaY 981 ¥H Iifaear g
4, T g1 o YMHhar 7|

Correct Answer :-

. I o1 ¥ AHaar B

45) 39 T $! O I U 3R 7 T T yx7 #1337 €

¢ U ATUP g ¢ | Holgd, Hd, UY, 91 Yy Wfa U g | R & 9t srf qa s ud vep
1 81 It as & T1y veraeR Rrard §1 SR foreht o enf ar wnfa o1 =1 waft witrn &
T Y107 T g1 8| IqS T BT 71 W TP 8 81 G&-g:-a &1 Uia airel ot 51 ¢ i g
3repfa 3N guf, A=ryguT i Hfa-Rare aur 9r T T Sudt axge §1 $4R 7 I 1 59 Hi
T 8 3R S A 9147 @ 9 g1 AoTed &Y | 47 Y8 WIFadT a1 SHIad 9§ 997 9 91 Aegd
TERT D13 181 | 98 e faaman 8, sravma =18Y | e ot vovar &1 i 2|

uy: o 3T g &1 faeH v forf@u|

1. 4 BT fIem 3 1R 9 &1 faeim sref 31
2. 4 &1 f3aH g9 3R SHH F1 a4 e g
3. o &1 fadm st oiR 9 &1 faam g g
4. o 1 Il o 3R TYH 1 A THaR B

Correct Answer :-

. g o1 oAy 31w iR S &1 fadH gaH B

46) 39 T B! AT A U 3R = 2T 78 yzq #13wR ¢
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¢ TP TSP Vg ¢ | HoTgd, Td, UY, T HUGH HiHd U 5| TR & 9t td qa Fud ue
B &1 9t ugw & 1y TaraeR Rrard 81 SR fosht famiw et ar sifa &1 181 3t wfory &
U Y107 T BT 81 IS T BT 37 W TP & 81 G&-g:9 &1 U1a ot oft 31 o s &
3rpfa 3R quf, Izrywr ok ifa-frars aur 9w 3 9t ST axgt &1 SR AT AT SAA BY
T 8 3R S A 9171 € 9 91 AeTed B | 0T I8 WIFadT 91 SH1ad 9 987 9 91 Aegd
TERT D13 181 | 78 e framar 8, sravma 1Y | e o vavan &1 T 2|

wy: of o1 fraa A 32
1. 47 B A A TE AT B |
2. 4 ) I A ST R |

3. ¢ &) g3 A FRIT B |

4, Y Bl HH A IR

Correct Answer :-

. 4 B AT I AT

47) SYTY S A9 A 1¢ 3R T g ey #13ww €

H U UTUS X § | ToIgd, 0, U, 1 JVerd Hifdd w0 g1 9aR & 9t o qa s o d ue
81 Tt vgw & a1y FEaeER Rrara 71 SR fod fai ond ar sfa &1 &Y | 3 wifora &
T Y107 T BT 81 IqSD T BT 37 W TP 81 81 G&-g:9 &1 U1a ot ot 51 ¢ i &1
3rpfa 3R quf, Izrywr ok ifa-frars aur 9w 3 9t ST axgt &1 SR AT AT SAA BY
AT 8 3R S/ A §9141 8 U a1 UeTed 9 | AT 3@ WIFadT a1 $91ad § 987 4 a1 Aeigd
TERT D13 181 | 78 e Rraman g, srawma =&Y | e ot vaar &1 i 2|

Y IUYa TR BT AR ffau|

1. TR & Gt 4o it T U & | HTaa 8f 999 a1 4 g | o Siiedl & A fo diedl 8 | TR & a+t
mﬁggﬁwmwm%l 98 9T U § 3renT fowarE v § foheq 98 iR A U &1 31 IuH
|

2. TR & gt o el § U B 1 HIaaT ) Ged we1 4 8 1 o SiiedT © 7 b dierar 81 SR & it
mﬁggwww% I8 9181 U Y 3T TS usdr & fbeg 98 3iex A o €1 31 S
|

3. YR & it ot ga 7 U & | AadT &) Wed g1 9 g | 4 Sisdr g A f disdr 81 TR &
mﬁggwww% I8 918 T (el foaTs usan § faveg a8 3iaR A U &1 g1 STH
[

4. GOR & Gt 4 @ T U € | AadT 81 oY ST 4 g | 4H SIedT § 7 b dredi 8 | SR & i
mﬁggwmaw%l 98 9T 0  31enT fowars s B fored 98 3ieR A Us &1 31 ITH
|

Correct Answer :-
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. TR & it 4 g B U B | ATad € I o1 4 3| 4 Sedr @ 7 fb disar 31 IR & g
mﬁggwww%l 98 9181 U 3T TS usdi & fbeg 98 3l A U €1 31 I
|

48) TH T P! U A U¢ 3N - T T g7 #13IeR &

o Uh AP U § | I916d, 74, Uy, a1 Ave A U g vaR s ot sf qa wsud we
& 81 9t oo & a1y TeraeR Rrard §1 4R fosdt famiw end ar snfa &1 =81 @ wifvrai o
TS YIUT e BT 8 | U ¥ad &1 01 ot U & B 1 9-g: BT UTT Y oft 379 v Sar 2|
3rpfa 3R auf, A=ryur sik ifa-frars aur 9 3 9t ST axg &1 SR A T AT A BY
T € 3R ST A 99141 8 4 U1 ASTgd &1 | T I8 HIFadT a1 S91-ad 9§ g7 4 a1 Helgd
TR BIS 15| I8 e Riaran 2, srama 181 | «nf &Y uwan &1 <A 31

U U IR 1 3fa 3w diforu)
1. HadT - T8 g7 9
2. HHEdT - GaY g7 91
3. AFAdT - o Biel 4
4, IaTAT - T a7 4

Correct Answer :-
« AT - I FT 4H
49) AR AG- HYd Gy ford a1 &1 &= 3
1. ST /et T AT R |
2. T Rl BT YA F B |
3. =T Rt BT TN SRR B |
4, & el BT ganT HY |

Correct Answer :-

« Y Qi BT YA T B

50) IR a9 Hd IHY AT
1. Teg Y

2. Xo AT

3. Teq oA

4. AP S ST
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Correct Answer :-
. oG S
51) «IER TRl Riy Tgial, pfea sra & wral-d,
Tt 3T TE) BT STTaed, B Bare Arel-Ht 1>
sAufREi A P AT 3?2
1. G XY
2. 4R IY
3. YO X

4, PIUIY

Correct Answer :-
. YOHH T
52) YgTax &1 -TH Farail:
o+ ot daa wiaToeR fear g, e facft s el
1. & o IR ToR o T B
2. T 3 R 9 T B
3.3¢H AIG I MU T
4. AT ! gaT A TR B |
Correct Answer :-
. feum srAM R e T R |
53) CANCELLED
ST B ¢ 9 I D12 BT LG TUE:
1. I8 ST B! S ol 82
2. 3T SIS ol 82
3. 39 91 B DI g1 ST 62
4. S 91 B B SFIdT 82

Correct Answer :-

. YT B B ST &2
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54)  dR-3G # 4Ud HIE | TEd1 @ | TP, IR IS 81 & wieh 7
1. YIS, 70T

2. T TOT

3. TS 0T

4. 31T 70T

Correct Answer :-

55) WUS BT & fawg § wg1 T ¢ f:

1. 98 U GRIC BT | T81 o=1 BT o YW a7 3 5|
2. 98 U GO 8Id1 8| 8] X &1 A S 5|

3. 98 U IR BIdT 8| T81 o1 &1 3 YIT a7 3R ¢ |
4. 98 U o3RI BIT & | TBT o= BT 3 YW1 1 3= 5|

Correct Answer :-

. 98 U%h SRIUR! BId1 ¢ | 81 o= &1 31 YT T 3R g |
56) ATYY 70T H ToI B:

1. €, 3, S, ¢ Ud YA T

2.9, 9, 9, 31 Ud JHMEYS T

3.7, W, §, Y, § Ud JHRIGH IT1

4.9,%, o, 4 Ud HIUgerd T

Correct Answer :-

57) UTNT TdhdTeT® ¢ rufq 3w St eafrat S=ivd gidl €, 39ar:
1. fordft aofda @ T T B

2. et TRg T A @ W TR AT g |

3. fordlt o T HId § T BT B |

4. Tt foman fa=ivor a1 1 § wa gt B |

Correct Answer :-

. P oga ol @ e g |
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58) ¥ HIFG A § oIl ¥4 &, RR®Te a9 3idd gid (e #d 2 | A GPR g1 YT &

Tas 31 frad IR A weT T B2
1. faura

2. R HTa

3. UG

4, GIRY YId

Correct Answer :-

59) ¥ WUt YAl BT IEYUT B 8, 3¢ SIS TN T 8 | A I B I H SMURYT A

o 8 1 frads ok | HeT T g2
1. faurg

2. 3HTT

3. HORI UG

4, RITT HIg

Correct Answer :-

. faurg

60) Wt oref dter BT B
1. TG ec; QfRT
2. TIIUN Ve Wfd
3. STYYT Yeg KT
4. oI Vg RAfekT

Correct Answer :-

o YT g Al

61) TUocl T 31 YZUT HRA arelt

1. Xeg-RIfaaar
2. 3[ADPR

3. Jferar

4. T T
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Correct Answer :-

62) HTYT TP TSI 8, T U JOia 3R Jouafyd dierT a1 Tue g, o anfe
HGFRYT =U H 3T Hhd &

1. &RT, Y, fopar
2. &, HH, HUT

3. S, HH, fopa
4. &, %A, far

Correct Answer :-

63) HfRTAT : AR UFhT Hel | TSI Bidl 82
1. XA

2. a1

3. A1lE

4. %GR

Correct Answer :-

64) HTE ; AR U1 el A YbTIRId gidl 82
1. XqaH

2. TTHR
3. 3ar

4.38R

Correct Answer :-

65) & T ga faaRT sryar Ui & i gd 3T 9ere fauRl &1 JugH 31 991 Sl et
1. ey

2, AT
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3. Yeefdd

4, Hrardf

Correct Answer :-

66) 3 UG B! YU A U 3R T 3T T UM F71 Iqer 2

aTE e, # JRaTn &
el # T SRS,

a1g T8 Weft-wren # iy
R B ATATS,

T8 18] THTel & X W
3 g sTan 91,

q1E 151 ¢al & RR W
T¢ UG W F3A1S,

g i o1 gHTe,

I 9Y W ¢AT gH B!
AI- ¥ W - T,
o 1y IR 9 IR sF@!

UY: TS0 &) forast are A8l 87

1, Wgﬂsﬁfﬁguﬁ,ﬁaﬁwﬁaﬁ,wﬁ%mwﬁaﬁawéﬁ%mwaﬁaﬁmg&r
CAREE]

2. @gﬂ%ﬂ%ﬂ‘fﬁgﬂﬁ,ﬁﬁwﬁﬁﬁ,%%mwﬁawﬁ%mwaﬁﬁmw
Gk

3. JRETEN & Mo & TR, Uit &1 ara H fofem, THTet & ¥d IR T aul ¢al & TR IR TG &) d1e g

CAER
4, m@%nﬁﬁ%ﬁﬁtﬂaﬁwﬁﬂﬁm%:ﬂauﬁ?ﬁrmﬁa‘f%mwaﬁﬁww
3

Correct Answer :-

. g‘m@?ﬂ%ﬂ‘fﬁﬂuﬁ,ﬁﬁaﬂwﬁ%ﬁ,qﬁ%mmaﬁawﬁ%mmaﬁﬁmw
BRI
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67) 39 UL P YU | U 3N I AT 718 u=[ &1 Iqar <

aTE e, A R B
e | T W,

TTg TG Yit-wren A fdy
R B AqATS,

918 8] TUTel & A W
3 g% ST 9IS,

918 T8l adl & RR W)
Tg UG W 3341,

g dls A1 T,

I 9Y W ¢AT gH B!
A1g- 94 R - TG,
o1 7Y W 914 IR 3!

U T fHTehT G ST I18d1 872

1. T8 YA TR YT0T STER B ! IR | bl JHTH A1 I18d 3|
2. T HIGH TR U107 "NBTR 63 P! dek Afep! I U BT I18d 3 |

3. I ATGYH TR U101 ATSTaR HRA B! TR SYR BT G BT 184 8|
4. I8 ATGYH TR U101 ISTaR HRA Dl IR Af-h| BT JHTT 31 d18d g |

Correct Answer :-

- T AIGHN TR U107 BTAR F37 BT daR P! &1 G 31 918 &

68) T U P A | ¢ 3N T fau 718 U= &1 Iqar <

aTE e, A R B
e | T o,

a1 5! wHl-aTen | foy
W B adAS,

T8 -T1 AHTel & X W
7 &R STe oIS,

918 81 adl b RR W
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T U W TS,

g dts AT g,

I 9Y W ¢AT gH B!
AT- 3 W - 79,
o 1y W 91 IR M@t

T: 3 Ufekal &1 MMde fafag
1. UfERY bt e

2. A B AT

3. QRATATS B ST

4. QI 1 ST

Correct Answer :-

o QW 1 3ifHaTST

69) 3 UG HI YU A U 3R T T 10 U= #71 Iqer

e e, A R &
el # T SIS,

qTg TG Yt-ATen | fdy
R B aARS,

g -Tg1 THTel & G W
& &R STe WS,

|18 T8l adl & RR W)
Tg U IR T30S,

g dls A1 ST,

I 9Y W ¢AT gH B!
AT- 3 W - T,
o 1y W 91 IR 3!

uY: HfY & fore o W fRufa g 59 32
1. I & forg Sreres R § fob a8 St & A1 wR o S|
2. QW & Forg FoTes R § fob a8 Sfept & Anf s dr
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7

3. U & forQ GrAToies R & fob a8 el & A1 R féiy wmu|
4. Q80 & foQ geaHoes FRUf & o a8 St & anf | foe sy

Correct Answer :-

. U & o gree T § fos a8 Sfet & o1l R fos ol

GET IT ON
Google Play

70) 3T U B! YU A U 3T = fT T8 U= F71 IR 3

e e, # JRaTn &
el # T SRS,

a8 8l Weft-wren & iy
R B ATATS,

T8 -Tg] THTel & X W
3 g sTan 91,

1E 151 ¢al & RR W
T¢ UG W 331,

g I A1 ST,

I 9Y W ¢AT gH B!
AT- 3 W - T,
o 1y W 91 IR 3!

UY: $Y 7 Bt b ATEH A T I AT 7

1. Bfd = I & AT ¥ YRATATSN BT Jg ToT a1 ¢ b It <=1 1 v& & o o011 9dva =rerer

CaEd

2. Bfd A q & H1EH I <R & AN D T8 GaxT 1841 § b a1 =1 1 & & 1T 3101 g <israr

PR

3. B 7 qW & H1egH J SDT 1 I8 T e ¢ o at <=1 1 &1 o frw 3101 wdwa <sTer o ¢
4. BfA 7 g & HTeaw § Uil Bl a5 Taw e © fob ot <1 1 e o foTg 3o wdva isTar R &

Correct Answer :-

. B3 YU F TTeT Y I & AN B I8 T2 o 8 o oY <=1 bt e 3 o o1 Teled =eTaR

PR

Topic:- General English
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1) Choose the appropriate preposition for the given sentence:

Our terms and conditions are printed our invoices.
1. across

2.in

3.0n

4. over

Correct Answer :-

2) Choose the appropriate preposition for the given sentence:

| am removing my name ____the membership.
1. off

2. by

3. from

4, of

Correct Answer :-

e from

3) Choose the appropriate preposition for the given sentence:

This offer is subject ___ market conditions.
1. to

2. for

3.1in

4, at

Correct Answer :-

4) Choose the appropriate prepositions for the given sentence:

He stood the fence and chatted his neighbor.

1. near, with
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2. from, to
3. for, from

4, near, for

Correct Answer :-

e near, with

5) Choose the appropriate articles for the given sentence:

To be healthy, reduce junk food in house and concentrate on healthy meals for entire
family.

1. a, the
2. the, a
3.a3,a

4, the, the

Correct Answer :-

6) Choose the appropriate articles for the given sentence :

If you start hitting
reaches the boundary.

ball hard, your opponent will also be little alert to stop it before it

1. the, a
2. an, an
3.3,a

4, the, the

Correct Answer :-

7) Choose the appropriate usage to fill in the blank:

The boy who had been idle was awarded a prize.
1. dangerously
2. miserably

3. notoriously
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4. seriously

Correct Answer :-
* notoriously

8) Choose the option that best transforms the given sentence without changing its meaning:
We take pride in our country.

1. Pride must be there in our country.
2. We are taken with pride in our country.
3. We are filled with proudness in our country.

4. We are proud of our country.

Correct Answer :-

e We are proud of our country.

9) Choose the correct form of verb for the given sentence:

The report of an earthquake nearby the village.

1. enthused
2. distracted
3. distressed

4, surprised

Correct Answer :-
e distressed

10) Choose the correct form of verb for the given sentence:

Whenthebus ___ Delhi, he decided to travel to Agra.
1. reaching

2. is reaching

3. reach

4. reached

Correct Answer :-

e reached
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11) Choose the correct form of modal auxiliary verb for the given sentence:

My school bus is usuallyon time. It _____ to be here any time now.
1. ought

2. might

3. shall

4. has

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:

The ___ spoken words would return to haunt the rebel.
1. systematically

2. magnificently

3. boldly

4, significantly

Correct Answer :-

13) Choose the correct form of adverb for the given sentence:

Their teacher speaks very
1. quickly

2. urgently

3. hurried

4. alarmingly

Correct Answer :-
e quickly

14) Choose the correct form of adjective for the given sentence:

These books are a improvement on what has gone before.

1. good
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2. beautiful
3. rude

4. great

Correct Answer :-
e great

15) Choose the correct form of adjective for the given sentence:

Sheisvery ______ ; you never know what she is going to do next.
1. docile

2. unpredictable

3. worthless

4. non-committal

Correct Answer :-
e unpredictable

16) Choose the correct form of expression to complete the sentence:

For people with hearing difficulties, telephones with volume controls provide the best
1. result

2. alternative

3. solution

4. remedies

Correct Answer :-
e solution

17) Choose the correct form of expression to complete the sentence:

In spite of many faults, he gained their
1. reputation

2. attention

3. affection

4. protection


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Correct Answer :-
o affection

18) Choose the correct form of tense for the given sentence:

| himonly one letter so far.
1. send

2. am sending

3. have sent

4, will send

Correct Answer :-
e have sent

19) Choose the correct form of tense for the given sentence:

My brother his textile business last year.
1. was starting

2. starts

3. start

4, started

Correct Answer :-
e started

20) Choose the correct form of tense for the given sentence:

When | was passing the house, | saw thathe ___ thecar.
1. cleans

2. was cleaning

3. cleaned

4, is cleaning

Correct Answer :-

* was cleaning
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21) Choose the correct form of tense for the given sentence:

They won't buy any new clothes at present because they money to buy a car.

1. saving
2. are saving
3. were saving

4, saved

Correct Answer :-
e aresaving

22) Choose the most suitable determiner for the given sentence:

The ____ thief escaped under cover of darkness.
1. some

2. another

3. each

4. other

Correct Answer :-

e other

23) Choose the most suitable determiner for the given sentence:

cloud has a silver lining.
1. Any
2. All
3. Every

4, Most

Correct Answer :-

24) Choose the appropriate articles for the given sentence:

Sheila decided to take leisurely walk in

garden opposite her house.

1. g, the
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2. the, the
3. an, the

4. a, an

Correct Answer :-

e a,the

25) Choose the appropriate articles for the given sentence :

Heis ____ estatedeveloperat _____ famous Jindal spa.
1. a, the

2. the, a

3. the, the

4, an, the

Correct Answer :-

26) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.
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“It was crazy — I didn't believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn't see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: The experimenter sliced the mustard weed leaf in two spots to
1. prevent any communication between its root bacteria

2. see how it would begin the repair process

3. put more resources into growing roots

4. boost the plant’s immunity by signaling the leaf pores

Correct Answer :-

» see how it would begin the repair process

27) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.
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“It was crazy — I didn't believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn't see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
samel!

www.dogonews.com

Question: According to the passage, what substance helps growth of plants in labs?
1. Petri dish

2. Soil bacteria

3. Agar

4. Arabidopsis thaliana

Correct Answer :-

28) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.
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“It was crazy — I didn't believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn't see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
same!

www.dogonews.com

Question: Which of the following options does not mean the underlined word ‘ecstatic’ in
Paragraph 2?

1. Thrilled
2. Overjoyed
3. Doubtful

4, Excited

Correct Answer :-

* Doubtful

29) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.
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“It was crazy — I didn't believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn't see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
same!

www.dogonews.com

Question: When do injured plants communicate?
1. When faced with danger

2. When they begin their repair process

3. When they spot soil and water

4. All of the above

Correct Answer :-

» When faced with danger

30) Read the passage carefully and answer the question given below:

You might not think of plants as particularly chatty but in reality, they communicate surprisingly
well with each other, especially when faced with danger. According to a recent study in the
journal Frontiers in Plant Science injured plants send out emergency signals to alert neighbors to
start building up their defenses.

The chain of events that led to this surprising discovery began about two years ago, after
University of Delaware botanist Harsh Bais agreed to mentor 16-year-old Connor Sweeney on a
research project. The ecstatic high school student got to work right away, spending all his free
time, including weekends and summer breaks, in Bais's lab at the Delaware Biotechnology
Institute.

His project entailed culturing Arabidopsis thaliana, also known as mustard weed, for use in
experiments. The young researcher would place the seeds in Petri dishes and test tubes filled
with agar to promote growth. The seeds would germinate about six days later and transform into
delicate three-inch saplings with bright green leaves.

One day, Sweeney sliced a mustard weed leaf in two spots mimicking an insect bite to see how it
would begin the repair process. The following day, the young researcher was surprised to find
that while the injured plant remained unchanged, the roots of the neighboring young mustard
weed sapling had grown considerably longer and even had lateral offshoots.
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“It was crazy — I didn't believe it at first. I would have expected the injured plant to put more
resources into growing roots. But we didn't see that.” said Bais, who conducted a similar study in
2012, where he found that soil bacteria living near the roots of a plant helped boost its immunity
by signaling the leaf pores, or stomata, to close in the presence of pathogens. To ensure that it
was not the same system at work, Sweeney partitioned the plants to prevent any communication
between their root bacteria and repeated the experiment multiple times. The results were the
same!

www.dogonews.com

Question: Whose brainchild led to the surprising discovery of communication of injured plants?
1. Not mentioned in the passage

2. Arabidopsis thaliana

3. Harsh Bais

4. Connor Sweeney

Correct Answer :-

* Connor Sweeney

Topic:- General Knowledge

1) In AABC, AD is the internal bisector of 2A, meeting the side BC at D. If BD = 5cm, BC = 7.5
cm, then AB: AC is: /{5t AABC &, AD S0 2A FT 3HTdR® THIGUTSS & 9T YT BC A farg D W
firerar 219fe BD = 5 4, BC=7.5 9, 1 99 AB : AC &:

1.3:5
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1. 15
2.32
3.28

4. 27

Correct Answer :-

3) How many Tuesdays are possible if the last day of the February is

Wednesday?/ af¢ wasl &1 sifaw fa7 guar 8 @ 39 98 fran TaaR Sya 8 9d 82
1.0nly 4 / Had 4
2. Only 6/ $dd 6
3. Only 3/ &dd 3
4.0nly 5/ &ad 5

Correct Answer :-

« Only 4 / had 4

4) In the following question, select the related letter/word/number from the

%:%Il;n alternatives. /A fafad u=a # fau e fawenl A @ TR iR/ e &t
|

3265:4376 :: 4673 :7?
1. 3562

2. 5487

3.2154

4. 5784

Correct Answer :-

« 5784

5) In the following question, select the related letter/word/number from the

%g;n alternatives./ fAAfefad yw & fou e faeedl A O TwafRd sieR/ < e &1
|

AGRA: UTTAR PRADESH :: MUMBAI?:/ 3RT: 3T WX :: Ha3:?

1. Kolkata/ dddh«dl

2. Gujarat / T[SRTd
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3. Maharashtra/ HERTY
4, Madhya Pradesh/A% U=

Correct Answer :-

« Maharashtra/ HeRRTY

6) DIRECTIONS: Solve the alphanumeric series given below:/ fard=r: :ﬂ%rzﬁrrg
JERTDIT YUl B g6 P:

A2B, E3F, 153, O7P, ?
1. U9V

2. U13V

3. U15V

4. U11V

Correct Answer :-

« UllV

7) Which figure represents the exact relationship with the variables given in

questions? /I TP wy H fau U srqual & Hf¥a dau #) gxiidi 82

00 @D

Crocodile, Eagle, Lion/ TRAS, TS, I
1.D
2.B
3.C

4. A

Correct Answer :-
« C

8) Read the figure and find the region representing persons who are
educated and employed but not confirmed. /3T HT AT B 3R J1d B fos
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ST &7 I AfRdl i quiiar @ il f fRfara ok Fraifora 8 dfe S9! Aiedt 7 gid =it 21
Employed / @afaa

Educated / fof&g ‘ﬁ
D
-

Confirmed in job/ e 3 gfte

1. adc
2. abc
3. bd

4. ac

Correct Answer :-

9) Gopal is elder to Mohan, but younger to Ram. Mohan is elder to Sohan, but
younger to Ram. Who is the eldest?/ TuTd, Mg I 971 8, TR ¥ & Bl 31 /g,
e | 98T 8, IR IH A BIeT | DI a4 T3T 8?2

1. Mohan/Iﬁ%:[
2. Gopal/"ﬁtl'l?f
3. Sohan/?ﬁ%'rr

4. Ram/IH

Correct Answer :-

10) Raman is a student of 10tP class. In his class, his position is 16" from

the top and 49t from the bottom. What is the total number of the students
in the class?/ Y9 10 df H&T H1 B 3| TP H&m H, Iqa! AT AT T 16 TRMARE
IYT A A 49 3 R W 8| F&T A S| B Hol T FT 8?2

1. 64
2. 66
3.65

4. 63

Correct Answer :-
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11) (256)0-16x (16)0-18 =7
1.4

2. 64

3.256.25

4.16

Correct Answer :-

. 4

12) Which region of Madhya Pradesh are the Hid songs popular in?/ 9% Ue=I

& P-4 &7 H s Ty 82
1. Malwa/ HidIdl

2. East Nimar/ qd fAHTS

3. Baghelkhand/ SUeRaUs

4. Bundelkhand/§cads

Correct Answer :-
« Malwa/ HIddl

13) If ‘blue’ is called ‘red’, ‘red’ is called ‘green’, ‘green’ is called ‘black’ and
‘black’ is called ‘white’ then what is the colour of ‘grass’?/3f¢ Har & e
P AAT 8, ‘AT’ Bl &R’ BT A1 3, ‘B DI 'BIAT HBT oAl 8 3R "B’ Bl ‘he' Hel
ST @ d V=T T 3 91 g1 ?

1. black/ hTdl
2. white/ 9%¢

3. green/ &xl
4. red / dId

Correct Answer :-

« black/ Tl

14) A sum of money invested at compound interest amounts in 3 years to
Rs.2,400 and in 4 years to Rs.2,520. The interest rate per annum is:/&ﬁ'&‘
YRTIRT AT Thgfes TATST Pt G2 A 3 T A Rs.2400 TUT 4 U1 & Rs.2520 § Al &, af
i saT % FaT 32

1.12%
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2. 6%
3.5%

4.10%

Correct Answer :-
e 5%

15) Which two of the following instruments are used to the dancers in the

Ahirai dance performance?/ &@Tﬁﬂﬂu@ﬁﬁﬂma?ﬁ‘ﬁ%ﬁﬁmﬁﬁ@
PIH- | G qTEI-9F BT START fomaT Sirerm 82

1. Drums and bhapang/ &I 3{R YU
2. Drums and khomak/ @Id 3R WIH®
3. Drums and jhika/?.ﬁFNﬁ? 1%—@‘[
4. Drums and timki/?.ﬁ?fsﬁﬂ%‘qﬁ

Correct Answer :-

« Drums and timki/@ﬁ 3R feqa!

16) If BRAVE = APXRZ, then SALUTE = ?/ﬂﬁ BRAVE = APXRZ, dd SALUTE = ?
1. RYIQOY

2. YRIQOY

3. RYIQYO

4. RIYQOY

Correct Answer :-
« RYIQOY

17) If MOBILITY is coded as 46293927, then EXAMINATION is coded as:/ gfe
MOBILITY T %c 46293927 %aa, EXAMINATION WW%

1. 56149512965
2. 67250623076
3. 57159413955

4.45038401854

Correct Answer :-

« 56149512965
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18) The Lokranjan Festival is held —/ @i®3si{ 3d foha- siavTa A imaifora forar
AT 8?

1. YearIy/uﬁIaEf

2. None of these/ 370 q ®Ig Tal

3. Biennially/@?ﬂ%

4. Once every 2 years/EIFaE 2 aY § U aR

Correct Answer :-

. Yearly/ ufa a¢

19) Where is the Security Paper Mill located?/ uﬁr{ﬁrwmmﬁ‘f@m%?
1. Hoshangabad/ BIRFTETG

2. Itarsi/ SCRE]

3. Rewa/ dfar

4. Jabalpur/ SIS¢eT4R

Correct Answer :-

« Hoshangabad/ BIRTETIG

20) A and B can complete a piece of work in 8 days, B and C can do itin 12

days, C and A can do it in 8 days. A,B and C together can complete it in:/A
B frftem e s A Fe a®dd 31 B iR C S dm ol 12 kAT A HR AP BIC 3R A

SN e B 8 A A HRAFA &, dt A,B 3R C Fras? 39 &1 31 fora & A v
1. 4 days/4 fad
2. 5 days/5 f&q
3.7 days/7 f&A
4.6 days/6 fa

Correct Answer :-

. 6 days/6 fad

21) If the cost price of 25 chairs is equal the selling price of 30 chairs, then

the loss % is:/af¢ 25 FRIGT &1 arT geu, 30 FRIAT F fapy T & /R 7, a1 g1
ufa=ra faer 82

1. 20%
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2.25%
3.16.66%
4. 5%

Correct Answer :-

« 16.66%

22) If the selling price of 16 items is equal to the cost price of 20 items, then
the gain or loss percent is:/ 16 T&I3il T fara Tea 20 T3 & AT Tod & TRIER
8, @ ufo=ra @y ar g1 91a ®e |

1. Loss of 4%/ 4% 1 g
2. Loss of 20%/20% &1 gTiH
3. Gain of 25%)/ 25% &1 dH

4, Gain of 20%/20% T ¢lH

Correct Answer :-

« Gain of 25%/ 25% HhT dlH

23) Who was the President of the Swaraj Party when it was formed in the
year 1922?/ a4 1922 ¥ Tq WaRTS U Bt TITUT g5 A, 99 W el & eaed o A2

1. Vithalbhai Patel/ fdg@yTs ucd

2. Chittaranjan Das/ e a™

3. Subhas Chandra Bose/ ¥ g &I
4. Motilal Nehru/ Hididrd A8

Correct Answer :-
« Chittaranjan Das/ feReH g9

24) Who was the father of the Sunga ruler, Agnimitra?/ g IR, JRREAT S
frar e A2

1. Bhagabhadra/ HNTH&I

2. Pushyamitra/ g&afer=T

3. Vasumitra/ ?ﬂjﬁﬁﬂ
4. Vajramitra/ @it

Correct Answer :-
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« Pushyamitra/ Q&Ifo=T

25) Who was known as ‘Alp Khan’?/ '3 @' & 90 § f5d SIE1 S1at 41?2

1. Dost Mohammad Khan/ aIRd J—I\IE;H-IQ W
2. Dilawar Khan/ f&@mar @

3. Hoshang Shah/ g1 218
4. Baz Bahadur/ §I5 dgTgR

Correct Answer :-

« Hoshang Shah/ BRI ]ME

26) When was the princely state of Alirajpur founded?/ 3eIRTSIQR fRarTd &1
RITYAT F9 §5 A2

1.1432
2. 1437
3.1435

4. 1440

Correct Answer :-

« 1437

27) What sum will amount to Rs.7,000 in 5 years at 8% simple interest per

annum? /{53 Tf1 &1 fAyeq 5 aui § 8% a1ftfes ATURY gU< Ht g3 A 7,000 U B
STET?

1. Rs.6000
2. Rs.6300
3. Rs.5000
4. Rs.6500

Correct Answer :-

« Rs.5000

28) What is the height of the Dhoopgarh peak above MSL?/ mgaaaﬁ“wrs‘aa
SWRIT YU B A1) Bt HATS FT 8?2

1. 1340 m /1340 HicR
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2. 1360 m/1360 HicR
3.1350 m/1350 HIR
4.1370 m/1370 Hic?

Correct Answer :-

« 1360 m/1360 HicX

GET IT ON
Google Play

29) What is the height of the Shivling situated in the Bhojeshwar Temple in

Bhojpur?/ ‘-ﬁﬁ'ﬂ?ﬂﬁ?ﬁf@ﬁﬁlﬁﬁﬂﬂﬂﬁﬁﬁﬁ‘ﬁ%’
1. 16 feet/16 Bic
2. 17 feet/17 BIC
3. 15 feet/15 BIC

4. 18 feet/18 Wic

Correct Answer :-

. 18 feet/18 Wic

30) What is the capital of Norway?/ A1d &1 ISTHT-} T 8?2
1. Dublin/ Ssfer

2. Bucharest/@'@ﬁ?

3. Oslo/ 3fr&l

4, Kingston/ﬁm?f:r

Correct Answer :-

« Oslo/ 3Nl

31) The perimeter of the top of a rectangular table is 28 m, whereas its area
is 48 m2. What is the length of its diagonal? /&l MAAT®R A B Jdg & SHWR

1 URATY 28 Hiex € aUT &% d 48 Hiez2 g1 fawul o1 awrs J1d B3|
1.10 m/10 #.
2.12.5 m/12.5 #I.

3.12 m/12 .

4.5 m/5 H.

Correct Answer :-
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« 10 m/10 HI.

32) On which planet’s movements does the Simhastha depend?/ ﬁi‘eiwm‘;l's'
I nfafafer) w A g2

1. Saturn/ 94 Ug
2. Jupiter/ §gHfd U8
3. Neptune/ 9X=T7 Ug

4, Mars/ HTd U8

Correct Answer :-

« Jupiter/ §g%Uld U8

33) The average weight of 15 students in a class increases by 1.5 kg when
one of the students weighing 40 kg is replaced by a new student. What is
the weight (in kg) of the new student?/15 faenfial @1 3iwd ao= 1.5 fPurag
WAl 8, 919 40 T &t faendf ot v 7ar faendf ufoqurfa owar 81 2 faemeff &1
o F1d Be |

1. 64.5 kg/64.5 foour
2. 60 kg/60 foam
3. 56 kg/56 fur
4.62.5 kg/62.5 T

Correct Answer :-

« 62.5 kg/62.5 i1

34) How many groups has ICAR divided Indian soils into?/ 3SR A fHaa
gl § YR frd) ot favnfora frar 82

1.8
2.7
3.6
4.9

Correct Answer :-

« 8
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The sum and product of two humbers are 10 and 24 respectively. The sum of

their reciprocals is: /<l YBT3 BT ARG TUT UG HHRT: 10 TUT 24 §, a1 375
bl BT AT 3:

b | =

N
]~

3, 12

12
4,11

Correct Answer :-

36) Which of the following dynasties did Vakpati Munja belong to?/ fFufefad
TSTERN | & PIF- A 9= W AUl Gorr arafea 32

1. Chandelas/ dad

2. Paramaras/ URHR

3. Mauryas/ﬁﬂc

4, Tomars/?-ﬁTR

Correct Answer :-

« Paramaras/ GRHR

37) Which of the following flora is the Bori Wildlife Sanctuary rich in?/

fFrafafad & Q 19- 91 gufa I a=aeiia aRvg § YR U A U SIr6r 82
1. Bamboo/ 919

2. Eucalyptus/ iy

3. Cactus/ AT

4. Rhododendron/ﬁ@@?ﬂ

Correct Answer :-

« Bamboo/ 9

38) Which of the following medicinal plants are available in Madhya

Pradesh?/ A9 U¢¥ # Ay A A $19-3 siushiy 0ie Suasy &2
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1. None of these/%ﬁﬁaﬁgﬁ
2. Both of these/ Tg gHl

3. Aloe Vera/ 9d $HRT
4, Lemon Grass/@TFr‘;ﬂﬂ

Correct Answer :-

. Both of these/ I8 &l

39) X starts a business with Rs.25,000. After 4 months Y joins him with
Rs.20,000. What will be the ratio of their profit at the end of the year?/X G|
25,000 U P Yoit AT YD TP ATUR IRE [BATI 4 718 & 918 Y, 20,000 I (A B 34
TR T T 81 T | 1 B a9 & 3 A I+ fova rqura & @y fremm?

1. 3:2
2.1:2
3.15:8
4.7:5

Correct Answer :-

« 15:8

40) Venkaiah Naidu was recently elected as the Vice-President of

India./3PATAGHI T T WA P SIRIPURI & =0 & G471 77 T}
1. 13t /134
2.15% /15d
3. 12t /129
4. 14t 149

Correct Answer :-

41) When is the National Handloom Day observed?/ ?T@H%Wﬁaﬂﬁm
ST 8?2

1.9 August/9 3T
2. 10 August/10 3FT

3. 8 August/8 3HTRd
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4.7 August/7 3ATE

Correct Answer :-

e 7 August/7 3T

GET IT ON
Google Play

42) The Dhasan River is the tributary of the — / YT 9d} fFa®! Terg® d} 82

1. Betwa River/a?IHT:l'pr

2. None of these/%ﬂﬁﬁﬂﬁ'ﬁgﬂ?}f
3. Tapi River/ drdt dt
4. Chambal River/ I9d Acl

Correct Answer :-

« Betwa River/ 9dar el

43) In how many different ways can a person get his two guests stayed in 9
rooms, when only one guest is stayed in one room? / fra - i yerRT A
PIs T 3= g1 ST ®F 9 FHRI W 353 bl 8, Tafh Th FHX A Had TP ffafy b
BEIAT SA?

1.72
2.6
3.36

4. 81

Correct Answer :-

44) 15 litres of a mixture contains alcohol and water in the ratio of 1:4. If 3
litres of water is mixed in it, the percentage of alcohol in the new mixture

will be:/15 dieX fgor & ta@ied iR U &7 U 1:4 §1 afe 399 3 fiew urh fren

T <iran 8, @Y ¢ Yo § uawigd &1 uia=a qarsi|

1.17%
2.16.66%

3.15%

1815}H
a 27

Correct Answer :-
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« 16.66%

45) Area of square with diagonal 8V2 cm is:/8"2 At fawof ara avf @1 e g
Cd|

1. 64 cm?/ 64 T2

2. 56 cm?/ 56 JHI2
3.29 cm?/ 29 JHi2
4.128 cm?/ 128 JTi2
Correct Answer :-

« 64 cm?/ 64 2

46) A man can do a piece of work in 5 days, but with the help of his son he
can do it in 3 days. In what time can the son do it alone?/T® afa f&dt &rf
P 5 feA & B GHar 8, AfP A 77 B Jeraar A a8 I wH H 3 A dH ar g, @t
U 3hdl 39 HTH DI fraq fa=11 o [R1 H= Ghar 82

1. 7.5 days/7.5f&q
2. 8 days/8 &A1
3.7 days/7 fad
4. 6 days/6 f&=

Correct Answer :-

« 7.5 days/7.5f&q

47) Which place is famous for sarees?/ I1f$al & forg H19-91 &I ufrg 82
1. Khandwa/ Tgdl

2. Orchha/ 3R®T

3. Chanderi/ﬁﬁ'ﬂ

4. Maihar/ He}

Correct Answer :-

« Chanderi/ gcd
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DIRECTIONS: In the question below are given few statements followed by
few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%!a: ﬁﬁﬁqwmﬁwa?m 3T IqH
a1¢ 9 ey fau 1T § 1 3mus) AT T =) @) I AT € Ha 8 3 gdya g | e
udid gid gf | 9} et @1 ufeu fibr au Fifeme f fau e faseul & Q@ Hi9-a1 fasey faw e
FYAI BT AHING $U A SRV BT 3, I8 Fd7Td a2 $2 W 8|

Statements:/ BY:

All books are tables./ 94 fard, 29 g1

Some tables are desks./ W%TSI?[, QW%'I

Conclusions:/ ﬁ'ﬁﬁ'ﬁf:

I. Some desks are books./ $ 3%, fFaM g1

II. All desks are tables./ 9 %F, ga &1

III. No desk is book./ Hﬁi%ﬁﬁﬁlﬁqﬁ%l

1. Only I follows/ Had fA5hY I 3IERU HRT 8

2. Only either I or II follows/ ad a1 df I AT I 3{ER0T 6l §
3. Only either I or III follows/ %ad@ AT I T 111 S{IERUI HRl §

4. Only either II or III follows/ %aa AT < IT AT 111 IERUI HRT §

Correct Answer :-

« Only either I or III follows/ %ad AT Al I T 111 3IERUT BTl &

49) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi’ﬂ: ﬁﬁqwmﬁ'wmﬁ 3R IqH
¢ 9 fAswd far e § 1 st AT T Syl &1 I AT € Ha 8 9 gdya 9 | e
wofta gia 8f | 9t Frsput @) ufew fir aa wifore % faw e et & @ e e feg e
FYFI BT TS U I STV BT 8, TTe Fad a2 $S o &

Statements:/ ®YH:

Some shirts are socks./ W‘s’ré', 'Fﬁﬁ%'l
No sock is red./ ®Is HISl, AT 81 &1
Conclusion:/ ﬁl‘lﬁﬂf:

I. Some socks are shirts./ W'Fﬁ@[, Q]Z;%'I
II. No shirt is red./ &3 I3, AT &1 B
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1. If neither conclusion I nor II follows/ afe 7 & FsHe I & 1T SI¥RUI FHRl §

2. If only conclusion I follows/ af¢ dad fsHY I IR0 BT §
3. If only conclusion II follows/ Tfc Had FsHY 11 SIER0 BT §
4. If either conclusion I or II follows/ Tfg a1l FHY I AT 1T IR0 BT §

Correct Answer :-

« If only conclusion I follows/ afc Had w1 3ERUI T §

50) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts. /A E3r: 19 fRT ¢ vx1 & $© $y iR 9P
q1E o frepd fr 1T §1 Sy fAT T sy 3t I 941 8 Yd 8 d Idyra g 9 e
wofta gia 8 | 9t Frspt &) ufew fir aa sifore % faw e et & @ e s feg e
FYAI BT THATd $U F SFEV Bl 8, ITe Gagd a4 o W gl

Statements:/ ®Y-:

Some trees are roads./ Wﬁg, W%'I

All roads are stones./ G4 98&, TR &1
Conclusions:/ﬁ'wﬂf:

I. All trees are roads./ 91 US, TSP 21

I1I. Some stones are trees./ $9 TR, ﬁ%’%l

III. No stone is tree./ &I TR, U8 gl gl

1. Only either I or II follows/ da@ AT al I ATII G@TUTW%

2. Only either I or III follows/ %ad@ ATl I TTII1 3IERUI HRT §
3. Only either II or III follows/ ad AT al 1T T 111 3IERUT Hal &

4. Only II follows/ Had IT TRV BT §

Correct Answer :-

« Only II follows/ %ad IT R0 BT §

51) DIRECTIONS: These questions are based on the basis of following

information. Study it carefully and answer the questions./ﬁﬁﬁr: gg U=
fFrafafad MR R smenfid 8153 (| ufeu iR UMl & Iqar i

A, B, C, D, E, F, G and H are sitting around a circle, facing the centre. E and G
always sit next to each other. D sits third to the right of C. F sits second to
the left of H. C never sits next to A while D never sits next to G. H is not the
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neighbor of D and C./ A, B, C, D,E,F,G3RH &= #1 3R g $P TP g & TRI 3R
S EURIER G TAM TS g & e 93d T I D,C F M ATRR WA R ISATE I F, HF
TLIATR VA RIGATEI CFH M A Farma A Rt doarg wafe D s e &
TR R R TSI 93a1 81 H,D 3R C HT USRIl 81 81

Who sits between A and D?/ A 3R D & &9 19 964182
1.E
2.F
3.C

4.B

Correct Answer :-

52) In which year was the Gwalior Light Railway from Gwalior to Bhind

started?/ WIferaR & fiis a9 aiferR @ge Yad & yreend foa ad d g5 &2
1.1901
2.1903
3.1899

4.1897

Correct Answer :-

- 1899

53) In which year was the Slave Dynasty founded?/ JaT® 431 {5 ad & wuifia
g UT?

1.1210
2.1208
3.1204

4.1206

Correct Answer :-
e 1206

54) In which year did Dr. Vishnu Sridhar Wakankar discover Bhimbetka?/
g adf o sto faw] SR arHvreR A Wades @1 @iw o2

1. 1957
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2.1958
3.1960
4. 1959

Correct Answer :-
« 1957

55) In which year did Kailash Satyarthi win the Nobel Peace Prize?/ ERELE
Farr gardf A Naa ifs PR Siar u1?

1.2014
2.2012
3.2015
4. 2013

Correct Answer :-
« 2014

56) The ratio of present ages of Geeta and her mother is 1: 5. After 7 years
the ratio will be 3: 8. What is the present age of Geeta?/dr 3R 3P AT HI

A ST HT SJUTT 1:5 71 7 T4 916, I 3JUTd TGP 3:8 § ST | el B qeiA 3y
FTZ?

1. 7 years/7 G
2. 6 years/6 ¥
3.5 years/5 Gl

4. 8 years/8 ¥

Correct Answer :-
« 5 years/5 G

57) The ratio of two numbers is 3: 8 and their difference is 115. The smaller
of the two numbers is: /3l I3 BT 3JUTT 3:8 2 3R ST 3R 115 €, 374 4 B
T T B

1.194

2.69

3.59

4.184
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Correct Answer :-

GET IT ON
Google Play

58) A 75 metre long train is moving at 20 kmph. It will cross a man standing

on the platfrom in:/T& 75 Hiex @l YIS, St 20 fHl/der &t 1fa 4 99 36 8,

WewH IR WS UTH Afed bl IR &1 A fraar g9y a2

1. 14 seconds/14 9%

2.15.5 seconds/15.5 d&s

3.12 seconds/12 V&S

4.13.5 seconds/13.5 I5s

Correct Answer :-

. 13.5 seconds/13.5 &S

59) Bhoorsingh the Barasingha is the official mascot of - / ﬂ{\rﬁrs'mﬁrm DI-
A Ik ST BT RGNS PHPR 32

1. Panna National Park/ U=l 81T IM

2. Pench National Park/ﬁﬂ?l@ﬂ?ﬁaﬁ

3. Kanha National Park/mﬂ@q?ﬁrﬂ

4. Bandhavgarh National Park/ GTWT?.{TI@HBEIW

Correct Answer :-

- Kanha National Park/ S1=gI ¥4 e

60) ((0.1)* — (0.01)7
0.0001

1.110
2. 100
3.1010

4. 101

Correct Answer :-

« 100

}+1=?
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=] 729

\ 04096

1.13.6
2.5.625
3.0.5625
4. 182

Correct Answer :-

« 5.625
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63) The HCF of two numbers 12906 and 14818 is 478. Their LCM is:/Gl T 12906 3T 14818 BT
HAY. 4788, A A, A B}

1. 800172
2. 200043
3. 400086

4. 600129

Correct Answer :-

* 400086
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IfA:B=2:3,B: C=2:4and C:D=2:5,then A:D is equal to:/df¢ A:B=2:3,B: C=2: 4 3R C:D=

2:5%,?ﬁA:DWW%:
1.3:5

2.2:45

3.1:5

4.2:15

Correct Answer :-

e 2:15

65) The speed of a bus is 72 km/hr.The distance covered by the bus in 5 seconds is:/ TP g9 Bt i

72 fodlt/eer 31 99 §RT 5 Ads § a9 $t Tt gt ga1Ul
1. 60 m/60 H.

2. 74.5 m/74.5 Hl.

3. 100 m/100 H.

4, 50 m/50 HI.

Correct Answer :-

« 100 m/100 .
66) CANCELLED

The first organic compound to be synthesized in the laboratory was?/ fada
DT BT -D TS § o TawYH TarT=mar # wxaft faar mar ure?

1. Urea/ qffTes

2. Tartaric acid/ TR 3
3. Ethylene/ TUBfeH

4. Acetic acid/ THIf¢d 3T

Correct Answer :-

« Urea/ Oiffl®

67) DIRECTIONS: Choose the odd one out from the given alternatives./ fAdr: feu
¢ fawel A & faww 3rsg gfAw:

1. VTC
2. HOG

3. LQN
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4. DHG

Correct Answer :-

« HOG

68) The national chemical laboratory is situated in?/ Pt YRS T
Fal fRUd 32

1. New Delhi/ 75 faeht
2. Pune/ E[l?[

3. Bangalore/ QTIT:E

4, Patna/ UcHl

Correct Answer :-

« Pune/ Ul

69) A little ether on the palm gives a cooling sensation because ether?/ DIt

AR B 911 3 W S UG Pl ¢ Mifb?

1. Enters the pores of skin/ g @ & 5% H 7o o a1 8
2.Is a cold liquid/ 98 T $S15d &

3. Evaporates,/ arSdi&RUl & HIRUT

4. Condenses on the palm/ gUcll R Jufd g1 Srar

Correct Answer :-

. Evaporates/ aTSfi&RUl & HRUT

70) One of the organs excretes water, fat and various catabolic wastes is

the?/ S A1 3 § S SR 16, T9T T 37 TS YR i 9187 FrawpTeran 82
1. Lungs/ Bhs

2. Skin/

3. Salivary glands/ e Sifan

4. Spleen/ @il

Correct Answer :-

« Skin/ @l
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The image of an object formed in a plane mirror?/ wma&wﬁuﬁrﬁam

ferarior grar € <t gie &:

1. Is slightly shorter than the object/ fie q gep1 AT BIT BT &
2. Is real/ AR Bl §

3.Ts virtual/ 3mHTR €T §

4, Can be obtained on screen/ ﬁwmww%‘

Correct Answer :-

« Is virtual/ &ﬂﬂ-mfa?ﬂ%

72) Kashiv starts walking towards South. After walking 15 metres he turns
towards North. After walking 20 metres, he turns towards East and walks 10
metres. He then turns towards South and walks 5 metres. How far is he from
his original position and in which direction?/ S1R4, &1 H} R TAT YRY HaT
21 15 Hex ge F 91¢ T8 SW BT SR GS T 21 20 FreX To H I I8 [d P R gear e
3R 10 e gaar 21 a8 f= gféror &Y 3R gear 3 sk 5 Hex gaar 81 98 3 arafas
fRufy @ frat v ok fpa femm # @2

1. 10 metres, South-east/ 10 iy, aF&rUquf
2. 10 metres, East/ 10 Hicy, Elj
3. 10 metres, North-east/ 10 ﬂIEQ, Bﬂ?-ﬂj

4. 10 metres, West/ 10 Hiex, Tfgy

Correct Answer :-

« 10 metres, East/ 10 HieR, gd

73) Drinking soda is?/ W= 9 FreT gian &
1. An oxidizing agent/ T JHIRIHRS dd

2. Basic in nature/ &R UPHfd &

3. Neutral/ ScrH

4. Acidic in nature/WWﬁl%

Correct Answer :-

« Acidic in nature/3fiid U@ id &

74) The type of mirror used in the head lamps of car is the?/Wa? 3 SUfRYT
AU@ge) A I YT ST IUANT fHar SraT 8
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1. Spherical concave mirror/ @fghd 3fgdd gUur
2. Spherical convex mirror/ afshd 3T gUUT

3. Plane mirror/ gHdd U

4, Parabolic concave mirror/ GXdIdIh R Hddd E'CfUT

Correct Answer :-

« Parabolic concave mirror/ GRdIddIRh R SHddd E'CfUT

75) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ frd=r: P faee o
T 98 Meg A N AU 70 215 & 31eRT &1 WaRT B 81 9141 off Il |

REASONABLE
1. NOBLE
2. ARSON
3. BONES

4. BRAIN

Correct Answer :-
« BRAIN

76) DIRECTIONS: Arrange the following in a logical order:/ fAd31: i &1 ts
3ryquf By # FafRE F¥|

(i) Birth/ &1
(ii) Death/ g

(iii) Funeral/ 3ifow ¥R
(iv) Marriage/ fqars

(v) Education/ fre&m

1. (i), (iii), (iv), (v), (ii)

2. (i), (v), (iv), (ii), (iii)

3. (iv), (v), (iii), (i), (ii)

4. (ii), (iii), (iv), (v), (1)
Correct Answer :-

° (I)I (V)I (iv)l (”)I (”l)
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77) The best example of an ecological community is?/ aWS'Eﬁ'q'\‘I'ﬁa'l'qaﬂ
Haay 3eTeIvI &

1. All the people in India / HRA & T SHEBAT
2. All the whales on earth/ qﬁqﬁrwﬁaﬁaﬁ%a
3. An oak tree/ 3ﬁ$$rq&r

4. A meadow/ 1 BT aalﬂ

Correct Answer :-

« A meadow/ ‘aﬁrwﬁaﬂ

78) The disease ‘beri-beri’ is caused by the deficiency of?/ a3 a3t 371 fraat
FH A g1 §?

1. Vitamin B/ faerfa st
2. Iron/ @Gl

3. Iodine/ 3t

4. Hormones/ BTHINT

Correct Answer :-

« Vitamin B/ faerfim &t

79) If Ram is in the West of Shyam and Kareem is in the North of Shyam, in
what direction is Kareem with respect to Ram?/ f¢ IH, W & ufyA # g 3fiv
PN, WTH & I« | g @l HH, I S fra R=m i 82

1. South-east/ Ef\&FUT—Uj
2. North-east/ B&N—q\é
3. North-west/ IcR-af&H

4. South-west/ cf&mr-ufim

Correct Answer :-
« North-east/ BER—TJF

80) Quinine, the commonly used drug for malaria, is obtained from a plant.

What part of the plant yield the drug?/ I HARAT H IUTNT §IH aTell T AT
N & a8 U & f6T U & urd gar ?:

1. Fruits/ ®d

2. Bark/ STd A
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3. Leaves/ gt

4. Root/ S8

Correct Answer :-

. Bark/ B@ Y

81) Jaundice results from malfunctioning of the?/ Wferar ® f5 st &1 w1k
T giaT 8

1. Lungs/ fb'qv%
2. Kidney/ ga

3. Stomach/ 3HIRIY

4. Liver/ 9&d
Correct Answer :-

« Liver/ d&d

82) The prairie is?/ TaA AT 5?2

1. A grassland without trees/ ﬁsﬁ@wﬁwﬁm

2. A local community in Australia/ 3RcerIT &t &A1 TH&™
3. Name of a King / Udh TSIT T ATH

4. An area in South America on the side of river Amazon/ Si&T 3ARDT H 3HSIH Al &
fopTIR 7 &

Correct Answer :-

« A grassland without trees/ TS fagiH 979 &1 AgH

83) Woolens keeps us warm in winter because they?/ Fﬁmiﬂﬁﬂﬁm
TRY 394 € Fife?

1. Are good absorbers of heat/ ST & 3 ATUTD B &

2. Produce more warmth/ &r%nﬁfmaﬂ?r%

3. Do not allow our body heat to escape/ ¥ IRR T 8T B! 916X ol oI ad
4. Do not allow cool air to enter/ dS! gal &I 3G gl 3 ad

Correct Answer :-

« Do not allow our body heat to escape/ T IRR Y ST DI d8X 8! o od
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84) What is the pH of Hydrochloric Acid?/ BT5S! FaI¥® 317 &T pH HIH FT 8T &
1.7
2. More than 7/ 7 T 3{fd&

3. Less than 7/ 7dHH

4. Zero/ YA

Correct Answer :-
« Less than 7/ 79 &H

85) Bats can fly in the dark because?/ mﬁaﬁﬁ&mﬁ@ma
R

1. They are guided by ultrasonic waves produced by them/ 91 W4 & gRT 3904 H1 T4t
TRTEA T I et §

2. Any bird can be do so/ ®Ts Ht Teht I &R b §
3. The pupils of their eyes are very big/ W&w@ﬁw@mma@aa@aﬁ%
4. They have a better vision in the dark/ 39 UM 3ieR H 33 T Blcil &

Correct Answer :-

« They are guided by ultrasonic waves produced by them/ @l a0 & gRI 3TUH &1 T4
TRTE & I STl §

86) In which of the following elements which isn’t included in structural

elements/ A9 & A S19 YT 9w IATHSD dvdl & AT 3MA1?
1. Cadmium / $S A

2. Carbon/@®TeH

3. Oxygen/ 3ffaRTol

4, Nitrogen/?l's{@x_rl:r

Correct Answer :-

« Cadmium / HSfHaH
87) Which one of the following is a true fruit?/ ﬁuﬁﬁmwww%}
1. Pineapple/ 3™

2. Apple/ 9
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3. Coconut/ Tgd
4. Cashew nut/ &Iy

Correct Answer :-

« Coconut/ TTRTd

88) A and B both are children of C. If C is the mother of A, A is the son of C
but B is not the daughter of C, how are A and B mutually related?/A 3R B

dMigIc FIAT| AGC, A BIHATE, A, C FITATWIB, C HI T TE S, A IR B
MY ¥ 5y UepR gwefia 82

1. A is sister of B/ A, B ﬁa@q%
2. A is the nephew of B/A, B &I Hdloll §
3. A is brother of B/A, B Wﬂ-ﬂ'st%

4. A is cousin of B/A, B ®1 P g

Correct Answer :-

« Ais brother of B/A, B BTHS &

89) Of the following substances, the one that cannot be used as an

insecticide is?/f4 # @ $1 A1 TR ¢ O Fleame & ©u & IuahT &1 fo5ar o awn:
1. Gammexane/ THH

2. Bleaching powder/ sifeiT 9ot

3. DDT/ SISI

4. Malathion/ HaTRAM

Correct Answer :-

« Bleaching powder/ SiifeT 3of

90) When a ship enters a sea from a river?/ mﬁimwﬁqﬁﬁmm%’
dd:

1. It rises a little/ UISTHW TSI 8

2. It rises or sinks depending on the material it is made of/dg WX Bélllmﬁa’ﬂ,ﬁ
ger &1 &1 5, 39 a1d R R e

3. It sinks a little/ 98 UIST G ST &

4. It remains at the same level/ ¥9H UMM A |ar g

Correct Answer :-
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. It rises a little/ YISTHW 3T SIdT &

Tem feadt @ 2

2.21
3.17

4. 18

Correct Answer :-

92) Sharbati Sonora refers to?/ sﬁzﬁqﬁmwm%
1. The name of fruit/ T o hl [dH

2. A variety of wheat/ e g &1 USIfd

3. A variety of rice/ T Y9 &1 UsiIia

4. A hybrid variety of maize/ A%h® &I Yb1Xd USId BT AH

Correct Answer :-

« A variety of wheat/ wﬁgaﬁwﬁr

93) Hydrochloric acid is made up of the elements hydrogen and?/ E‘IE@H@W
3 &1 Ffor greg e iR frae! e R g &:

1. Carbon/ PHTa
2. Chlorine/ FARM
3. Iron/ FﬁBT

4. Sulphur/ e

Correct Answer :-
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. ChIorine/Eﬁfﬁﬁ'—r

94) The universal recipient blood group is?/ mmwmﬁm%'?
1.0

2. A

3. AB

4.B

Correct Answer :-

95) Radioisotopes are?/ ATHPIT RIS gHd §:
1. Isotopes used in radio sets/ ARG AT Je g9 & STAT B &
2. Isotopes that are radioactive/ 3 TP ¥4 I Fihd g §

3. None of these/ SWRIgd H I orﬁ%ﬂ%’f

4. Some nuclei which emit radiowaves/ WW?I%E'I REL maﬂ‘cﬁ%

Correct Answer :-

. Isotopes that are radioactive/ 3 TSI TU J b gId &

96) The chief constituent of Gobar gas is?/ Tha?ﬁwma'@sm‘q'aawﬁ:
1. Carbon dioxide/ W@}]’s’&ﬁ%}ﬂﬁg

2. Methane/ fad49

3. Ethylene/ TUEfeH

4. Acetylene/ Qﬁliﬁﬂ

Correct Answer :-

« Methane/ ERE

97) Study the two different positions of a cube given below with dots from 1
to 6 marked on its faces. Find out how many dots are contained on the face
opposite to that containing 4 dots./ a feT 7T 99 &1 & sram1-3raT fRufoay &1

AT B, o wae R RIfkd 1 9 6 3iw & 1y fdg Hivg 81 319 &% & 4 fogei & vaw
¥ Rvdia & frad Rig 22
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P 2

1.2
2.3
3.5

4.1

Correct Answer :-

e 3

98) The device used for converting mechanical energy into electrical energy

is called a/an?/ 79 & @ 914 91 97 Tifi® ot &1 fAuyga ot & ufvafda sars:
1. Transformer/ TRIGIRER

2. Dynamo/ sﬁn‘r

3. Cell/ IR

4. Electric motor/ ﬁ‘&lﬂﬁlﬂa

Correct Answer :-

« Dynamo/ SIERE|

99) When 60 is subtracted from 60% of a number, the result is 60. The
number is:/fHd BT P 60% A V 60 T T URUITH 60 3T g, o T T 82

1. 200
2. 180
3.150

4,120

Correct Answer :-
« 200

100) If '+’ means'-', '-' means ‘X', 'x' means ‘="' and '=' means '+’ ,then2 - 6 x6 + 2 =?/ gfe '+
Fraf -, - wr et o, BT e Fur s w4+ g2+ 6x6+2=7?

1.10

2.5


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

3.1

4.0

Correct Answer :-

24
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